
ASSEMBLY INSTRUCTIONS

1



2

4.For any damage or defective parts, kindly contact our online after-sale service.

 



Note that the table top can only be fixed with silver screws③
3

1
M6x50

x8

5
M6x10

x4

2
M6x40

x6

3
M6x30

x12

4
M6x10

x4

6

x6

7

x1

8

x4



silver color

4

8

8

C



3

3

2
2

F F

Notice after all the screws keep lite

tightness,tighten the 2# screws first
Notice: Install the No. 2 screw first, keep
itloose,andthenassembletheNo.3screw
               Fix the No.2 screws firstly
them, then assemble the No.3 screws.

5

silver color

silver color



1

Step 5 Step 6

6

2

6

2

6

D
D

I



Both sides can be assembled

7


